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Questions

1 Pico farad is equal to:

1 Nano farad is equal to:

Big unit of capacitance is:

The unit of electrical energy is:

Positive charge in an electric field always tend to move:

Electric field lines were introduced by:

Value of ‘k’ depends upon:

The electrostatic force acting on two charges each of 1C separated by 1m is
about:

Answers Choice

A. <p class="MsoNormal">10<sup>-
9</sup>F<o:p></0:p></p>

B. <p
class="MsoNormal">10<sup>12</sup>F<o:p>
</o:p></p>

C. <p class="MsoNormal">10<sup>-
12</sup>F<o:p></0:p></p>

D. <p class="MsoNormal">10<sup>-
6</sup>F<o:p></0:p></p>

A. <p class="MsoNormal">1X10<sup>-
12</sup>F<o:p></0:p></p>

B. <p
class="MsoNormal">1X10<sup>9</sup>F<o:p>
</o:p></p>

C. <p class="MsoNormal">1X10<sup>-
9</sup>F<o0:p></0:p></p>

D. <p class="MsoNormal">1X10<sup>-
6</sup>F<o:p></0:p></p>

A. <p class="MsoNormal">Farad<o:p></o:p>
</p>

B. <p class="MsoNormal">Volt<o:p></o:p></p>
C. <p class="MsoNormal">Watt<o:p></o:p>
</p>

D. <p class="MsoNormal">Coulomb<o:p>
<lo:p></p>

A. <p class="MsoNormal">Joule<o:p></o:p>
</p>

B. <p class="MsoNormal">Watt<o:p></0:p>
</p>

C. <p class="MsoNormal">Volt<o:p></0:p></p>
D. <p class="MsoNormal">Electron volt(eV)
<o0:p></0:p></p>

A. <p class="MsoNormal">Does not
move<o:p></0:p></p>

B. <p class="MsoNormal">From lower to higher
potential<o:p></o:p></p>

C. <p class="MsoNormal">From higher to
lower potential<o:p></0:p></p>

D. <p class="MsoNormal">All of these<o:p>
<lo:p></p>

A. <p class="MsoNormal">Faraday<o:p></o:p>
</p>

B. <p class="MsoNormal">Newton<o:p></o:p>
</p>

C. <p class="MsoNormal">Coulomb<o:p>
</o:p></p>

D. <p class="MsoNormal">Joule<o:p></o:p>
</p>

A. <p class="MsoNormal">System of unit<o:p>
</o:p></p>

B. <p class="MsoNormal">Nature of
medium<o:p></0:p></p>

C. <p class="MsoNormal">Both a and b<o:p>
</o:p></p>

D. <p class="MsoNormal">None of these<o:p>
</o:p></p>

A. <p class="MsoNormal">9X10<sup>9</sup>

N<o:p></o0:p></p>

B. <p class="MsoNormal">9X10<sup>-9</sup>
N<o:p></o:p></p>

C. <p class="MsoNormal">9X10<sup>8</sup>

N<o:p></o0:p></p>

D. <p class="MsoNormal">9X10<sup>-8</sup>
N<o:p></o:p></p>

A. <p class="MsoNormal">4-times<o:p></o:p>
</p>
B. <p class="MsoNormal">%4 th<o:p></0:p>
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T we aouple tne aistance petween two cnarges, tnen rorce becomes:

One coulomb is equal to charge of electrons:

A and B are the two inputs of a NOR gate. Its output would be 1 when:

The two inputs of a NAND gate are A and B. Its output would be zero when:

C. <p class="MsoNormal">Double<o:p></0:p>
</p>
D. <p class="MsoNormal">Half<o:p></o:p></p>

A. <p class="MsoNormal">6.25x10<sup>-
19</sup><o:p></0:p></p>

B. <p
class="MsoNormal">6.25x10<sup>19</sup>
<0:p></0:p></p>

D. <p class="MsoNormal">6.25x10<sup>-
18</sup><o0:p></0:p></p>
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